20






S 383 ®j H1./MODEL. 38 HEAT TRANSFER MACHINE
o= A
J35/NO 2 PARTS NAME QTY
1 4 machine frame 1
2 T@*ﬁ lower board 1
3 ﬁiﬁxﬂ Silicon mat 1
|4 l%}‘{ffrjfﬁ high—-temperature cloth 1
5 MAXTH- 7R sy M4X7 screw 22
| 6 . Sal metal plate 3
[ ; ?Ej:zig hot board 1
Upper board 1
9 M4X8-{-Fig &y MDZIPXS screw 4
10 I 3¢ 38 hot-board stand 1
11 M10X205h 75 M 44 M10X20 outer hexagon screw 5
ig iiﬂ metal handle 1
‘fﬁ n
14 B FIRHENO. 1 FOE:rh;(g.d }e i
ig M6é12+5ﬁi%ié M6X12 screw 2
HTFNO. 2 bar NO. 2 1
17 M6X12+FiE 22 M6X12 screw 1
18 M104Z1E M10 nut 1
19 A machine shell 1
20 B ReIR =2 digital thermostat 1
21 Ja SR Back plate 1
22 M4X81-F iR 42 M4X8 screw 6
23 2k B retaining coil 1
24 & 7870 e pressure adjusting knob 1
25 P AFNE 2. adjustment screw rod - 1
26 JE S T 2E adjust bracket 1
27 A5 FHINO. 3 bar NO. 3 1
o8 & clamp spring 2
29 B metal plate 1
30 M124Z 15 M2 nut 1
=i X i ae AC contactor 1
T M6X 12+ FiE2s M6X12 screw 1
¥ = i B2 AR contactless. board 1
I micro switch 1
22 X 12| Rz M3X12 screw 2
M10X205’|‘7‘<ﬁ5¢%é@ M10X20 outer hexagon screw 2
g’; o big spring 2
39
40
41
42
43
44
45
46
47
. 48
49
50




